
iz’u&i= dh ;kstuk 2024&2025 

 

d{kk &12  

fo"k; &Hkwxksy     

vof/k & 3 ?k.Vs 15 feuV       iw.kkZad&56 
 

1- mn~ns'; gsrq vadHkkj& 

Ø-l-a mn~ns'; vadHkkj izfr'kr 

1- Kku 17½ 31.25 

2- vocks/k  16 28.57 

3- Kkuksi;ksx  11½ 20.54 

4- dkS'ky 5½ 9.82 

5- fo’ys"k.k 5½ 9.82 

;ksx 56 100% 

 

2- iz'uksa ds izdkjokj vadHkkj& 

Ø-la- iz'uksa dk izdkj iz'uksa dh 

la[;k 

vad 

izfriz'u 

dqy vad izfr'kr 

¼vadks dk½ 

izfr'kr 

¼iz'uksa dk½ 

laHkkfor 

le; 

1- cgqfodYikRed 18 ½ 9 16.07 34.62 35 

2- fjDr LFkku 10 ½ 5 8.93 19.23 20 

3- vfry?kwÙkjkRed 9 1 9 16.07 17.31 25 

4- y?kwÙkjkRed 8 1½ 12 21.43 15.38 45 

5- nh?kZmÙkjkRed 3 3 9 16.07 5-76 30 

6- fuca/kkRed 2 4 8 14.29 3-85 25 

7- Ekkufp= dk;Z 2 2 4 7-14 3.85 15 

 ;ksx 52  56 100% 100 195 feuV 

fodYi ;kstuk % [k.M ^l* ,oa ^n* esa gSa         

3-     fo"k; oLrq dk vadHkkj&          
  

Ø-l-a fo"k; oLrq vadHkkj izfr'kr 

 bdkbZ & 1 v/;k;&1  ekuo Hkwxksy  3 5.35 

 bdkbZ&2 v/;k;&2  fo'o tula[;k  5 8.93 

 v/;k;&3  ekuo fodkl    

 bdkbZ& 3 v/;k;&4 izkFkfed fØ;k,a    

 v/;k;&5  f}rh;d fØ;k,a  18 32.14 

 v/;k;&6  Rk`rh;d vkSj prqFkZd fØ;k dyki    

 v/;k;&7 Ikfjogu ,oa lapkj    

 v/;k;&8 vUrZjk"Vªh; O;kikj    

 ekufp= 2 3.58 

    

 bdkbZ&1 v/;k;&1 tula[;k 3 5.35 

 bdkbZ&2 v/;k;&2 ekuo cfLr;k¡ 2 3.58 

 bdkbZ&3 v/;k;&3 Hkwlalk/ku ,oa d`f"k    

 v/;k;&4 ty lalk/ku  14 25 

 v/;k;&5 [kfut rFkk ÅtkZ lalk/ku   

 v/;k;&6 Hkkjr ds lanHkZ esa fu;kstu   

 ,oa lrr iks"k.kh; fodkl   

 bdkbZ 4 &v/;k; &7 ifjogu ,oa lapkj 4 7.14 

 v/;k;&8 vURkZjk"Vªh; O;kikj   

 bdkbZ &5 v/;k;&9 Hkks- ifj- esa p;fur dqN Ekq}s ,oa 

laeL;k,a 

3 5.35 

 Ekkufp= 2 3.58 



iz'u&i= CY;wfizUV 2024&2025 

     d{kk &12        fo"k; %&Hkwxksy   le; 3 ?k.Vs 15 feuV                   iw.kkZad&56 

Ø-la- mÌs'; 

bdkbZ@mibdkbZ 

Kku vocks/k Kkuksi;ksx dkS'ky  fo’ys"k.k ;ksx 
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1 bdkbZ&1 
½(2) ½(1)              1½(1)   

      
      3(4) 

2 bdkbZ&2 ½(3) ½(3) 1(1)         1(1)                      5(8) 

3 bdkbZ&3 ½(6) ½(2)     ½(1)      1(1) 1½(1) 3 (1)*    1(1) 1½(1)                  1½(1)  4(1)* 18(16) 

4 bdkbZ&4¼ekufp=½                         2(1)       2(1) 

                                 

5 bdkbZ&1 ½(2)  1(1)        1(1)            
  

        3(4) 

6 bdkbZ&2 ½(1) ½(3)                             2(4) 

7 bdkbZ&3   1(1)          3 (1)* 4 (1)*     1½(1) 3(1)*     1½(1)         14(6) 

8 bdkbZ&4 ½(2) ½(1) 
1(1)                1½(1)               4(5) 

9 bdkbZ&5 ½(1)        1 (1)          1½(1)               3(3) 

10 bdkbZ&6 ¼ekufp=½                        2(1)       2(1) 
 

       ;ksx 8½(17) 5(10)  4(4)      ½(1)   4(4) 1½(1) 6(2) 4(1)   1(1) 7½ (5) 3(1)     1½(1)  4(2)    1½(1)  4(1)  

 loZ;ksx 17½(31) 16(9) 11½(7) 5½(3) 5½(2) 56(52) 

 

      fodYiksa dh ;kstuk %& [k.M ^l* ,oa ^n* esa izR;sd esa ,d vkarfjd fodYi gS uksV%&dks"Bd ds ckgj dh la[;k ^vadksa* dh rFkk vanj dh la[;k ^iz'uksa* ds |ksrd gSA 

 

 ;g Cyw fizaV dsoy ekWMy iz’u i= dk gS] cksMZ dk iz’u i= fu/kkZfjr ikB~;Øe ,oa vad ;kstukuqlkj gh gksxkA 



mPp ek/;fed ijh{kk] 2025 

Senior Secondary Examination, 2025 

uewuk iz'u&i= 

Model Question Paper 

 fo"k; & Hkwxksy 

    Sub : Geography 

d{kk & 12oha 

Class: 12th 

                                            

le; % 03 ?k.Vs 15 feuV       iw.kkZad % 56 

 

              lkekU; funsZ'k %& 

1- ijh{kkFkhZ loZizFke vius iz'u i= ij ukekad vfuok;Zr% fy[kasA 
Candidate must write first his/her Roll No. on the question paper 

compulsorily. 

2- lHkh iz'u djus vfuok;Z gaSA 
 All the questions are compulsory. 

3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksaA 
Write the answer to each question in the given answer-book only. 

4- ftu iz'uksa esa vkUrfjd [k.M gS muds mÙkj ,d lkFk gh fy[kasA 
 For questions having more than one part, the answers to those parts are 

 to be written together in continuity . 

5- Ikz'u i= ds fgUnh o vaxzsth :ikUrj.k esa fdlh izdkj dh =qfV@vUrj@ 
fojks/kkHkkl gksus ij fgUnh Hkk"kk ds iz'u dks lgh ekusaA  

 If there is any error/difference/contradiction in Hindi & English version 

 of the question paper, the question of the Hindi version Should be 

 treated valid. 
6- iz'u dk mÙkj fy[kus ls iwoZ iz'u dk Øekad vo'; fy[ksaA   

Write down the serial number of the question before attempting it.  



[k.M ^v^ 
Section - A 

 

iz-1½  uhps fn, x;s cgqfodYih; iz'uks dsa lgh fodYi dk p;u dj mÙkj&iqfLrdk es 

 fyf[k,%&  

 Write the correct answers to the given multiple choice questions in the answer 

 booklet                         

i) ^^gekjh i`Foh dks fu;f=r djus okys HkkSfrd fu;eksa rFkk bl ij jgus okys 

thoksa ds e/; lEcU/kksa ds vf/kd la'ysf"kr Kku ls mRiUu ladYiuk^^ ekuo 

Hkwxksy dh ;g ifjHkk"kk fdlus nh \      ¼½½ 

v½  jsVtsy    c½  fjprksQsu 

  l½  ,yu-lh-lsEiy   n½  ikWy foMku&Mh&yk Cyk'k 

         "Conception resulting from a more synthetic knowledge of the 

        physical laws governing our earth and of the relations between 

        the living beings which inhabit it" who gave this definition of          

        human geography ?   

(a) Ratzel        (b) Richtophen  

(c)  Ellen C. Sempal               (d) Paul Vidal de la Blache 

 ii) uo fu'p;okn dh ladYiuk fdlus izLrqr dh \     ¼½½ 

   v½  jhVj           c½  jsVtsy  

  l½  fxzfQFk Vsyj   n½  ,yu lh- lsEiy  

         Who introduced the concept of new determinism .  

(a) Ritter        (b) Retzel 

(c)  Griffith Taylor                (d) Ellen C. Sempal 

           iii) ekYFkl us viuk fl}kUr dc izLrqr fd;k \     ¼½½ 

   v½  1998         c½  1898 

  l½    1798    n½  1698 

           



          In which year did Malthas present his theory ? 

(a) 1998      (b) 1898 

(c)  1798               (d) 1698 

 iv) tula[;k forj.k dks izHkkfor djus okyk izeq[k vkfFkZd dkjd dkSulk gS \   ¼½½ 

   v½  Hkwvkd`fr   c½  tyok;q 

  l½    [kfut   n½  uxjh; 

         

             Which is the main economic factor affecting population distribution ? 

(a) Geomorphology       (b) Climate  

(c) Mineral    (d) Urbanizations  

           v)  ekuo fodkl izfrosnu 2020 ds vuqlkj 10 osa LFkku ij fLFkr ns'k gS \ ¼½½ 

   v½  MsuekdZ        c½  uhnjyS.M  

  l½    vkLVªsfy;k        n½  LohMu 

          According to human development report 2020 the countrys  

         ranked tenth is- 

(a) Denmark     (b) Nether land   

(c) Australia                 (d) Sweden  

           vi) fuEu es ls jksi.k d`f"k Qly gS &       ¼½½ 

   v½  eDdk       c½ pk; 

  l½    xsagw          n½ pkoy 

          Which of the following is a plantation crop    - 

(a) Maize     (b) Tea 

(c)  Wheat     (d) Rice 

            vii) [kfut vk/kkfjr m|ksx gS  &       ¼½½ 

   v½  phuh          c½  lhesasV 

  l½    dkxt          n½  ok;q;ku fuekZ.k 

          

 



   It is a mineral based  industry  

(a) Sugar              (b) Cement 

(c) Paper                (d)  Aircraft manufacturing 

    viii) lwpuk vk/kkfjr m|ksx fdl {ks= ls lEcfU/kr gS \       ¼½½ 

   v½  izkFkfed fØ;kdyki        c½ f}rh;d fØ;kdyki  

  l½    r`rh;d fØ;kdyki     n½ prqFkZd fØ;kdyki 
 

  Information based industry is related to which sector ? 

(a) Primary Activity    (b) Secondary Activity    

(c) Tertiary activity    (d) Quaternary activity    

  ix) vk;ZHkV~V mixzg dk izs{k.k fdl o"kZ esa fd;k x;k Fkk \   ¼½½ 

   v½  1979         c½  1980 

  l½    1981        n½  1982  

            In Which year was Aryabhatta satellite launched ?  

(a) 1979    (b) 1980 

(c)  1981               (d) 1982 

            x) gqxyh unh fdl unh dh 'kk[kk gS \      ¼½½ 

   v½  xaxk         c½  ;equk 

  l½    dkosjh        n½  xksnkojh 

       Hugali river is a branch of which river ? 

(a) Ganga    (b) Yamuna  

(c)  Kaveri    (d) Godavari 

            xi) iz'kkar jsyekxZ ls dkSuls nks uxj tqMs gq, gS \     ¼½½ 

   v½  U;w;kdZ &,sfMysM               c½ U;w;kdZ &isfjl 

  l½    U;w;kdZ& lku&ÝkaflLdks        n½ lku&ÝkaflLdks &isfjl                      

       Which two cities connect by the Pacific railways . 

(a) Newyork -Adelaide     (b) Newyork -Paris 

(c)  Newyork -Sonfrancisco  (d) San francisco - Paris  



            xii) dsjy dk tula[;k ?kuRo fdruk gS \       ¼½½ 

   v½  889          c½  879 

  l½    869          n½  859 

            What is the population density of kerela  ?  

(a) 889     (b) 879  

(c)  869     (d) 859   

            xiii) rypj dks;yk {ks= fdl jkT; esa fLFkr gS \         ¼½½ 

   v½  egkjk"Vª        c½  iatkc 

  l½    vksfM'kk     n½  jktLFkku 

            In which state is Talcher coal field located ? 

(a) Maharashtra       (b) Punjab  

  (c) Orissa                 (d) Rajasthan  

            xiv) Hkkjrh; jk"Vªh; egkekxZ izkf/kdj.k dk izpkyu fdl o"kZ esa gqvk Fkk \     ¼½½ 

   v½  1996          c½  1995 

  l½    1994    n½  1993  

    In which year was the national high ways authority of India operationalised  - 

(a) 1996     (b) 1995  

  (c) 1994                  (d) 1993   

  xv) rwrhdksfju iÙku dk fodkl fdl iÙku ds nckc dks de djus ds fy, fd;k  

      x;kA           ¼½½ 

   v½  psUubZ          c½ eqEcbZ 

  l½    ikjk}hi   n½ gfYn;k 

            Tuticorin port was developed to  reduce the presser on which port  

(a) Chennai    (b) Mumbai  

              (c) Paradwip              (d) Haldia 

  

 



  xvi) fuEu esa ls xSfjlu ¼Nkouh½ uxj gS \     ¼½½ 

   v½  vtesj         c½  xkWa/khuxj  

  l½    m/keiqj    n½  uSuhrky            

  Among the following garrison (cantonment) twon is- 

(a) Ajmer         (b) Gandhinagar  

  (c) Udhampur                (d) Nainital 

          xvii) ckg~;L=ksru xfrfof/k fdl fØ;kdyki dk vax gS \    ¼½½ 

   v½  f}rh;d         c½  r`rh;d  

  l½    prqZFkd    n½  iaped          

  Outsourcing is a part of which activity ? 

(a) Secondary        (b) Tertiary  

  (c) Quaternary                (d) Quinary 

 xviii) dkSulk jkT; Hkkjr&ikfdLrku lhek dks lk>k djrk gS \   ¼½½ 

   v½  tEeq d'ehj         c½  fcgkj  

  l½    e/;izns'k    n½  dsjy         

  Which state shares the India-Pakistan border ? 

(a) Jammu Kashmir    b) Bihar 

  (c) Madhya Pradesh              (d) Kerla 

             

 iz-2½  fjDr LFkkuksa dh iwfrZ dhft, &               

   Fill in the blanks        - 

    ¼i½ ------------------------dk v/;;u fpfdRlk Hkwxksy esa fd;k tkrk gSA                   (½) 

         -------------------is studied in medical geography.   

   ¼ii½ 21 oh- lnh ds izkjEHk eas fo'o dh tula[;k ---------------------ls vf/kd             

       ntZ dh xbZ A               (½) 

        The world at the beginning of 21th century recorded the presence of 

       over -------------------Population.  



            ¼iii½ Ø; 'kfDr dks -------------------------------MkWyj ds lUnHkZ esa ekik tkrk gSA          (½) 

             Purchasing  power is measured in term of -----------------dollar's 

            ¼iv½ uhnjyS.M --------------------------------mRikn esa fof'k"Vhdj.k j[krk gSA                 (½) 

              The Netherlands Specialises in growing ………………………….   

        ¼v½ fo'o ds-------------------------- lokZf/kd vkckn ns'kksa esa fo'o dh yxHkx 60 izfr'kr 

     tula[;k fuokl djrh gSA                   (½)      

        The ………………………………..most populated countries of the world  

         contribute about 60 % of the world's population. 

   ¼vi½ izR;sd lM+d tks nks uksMks dks tksMrh gS---------------------------dgykrh gSA     (½) 

       Every road that joins two rodes is called ………………… 

   ¼vii½ Hkkjr esa jsfM;ksa izlkj.k lu~ -----------------------esa izkjEHk fd;k x;kA          (½) 

        Radio broadcasting started in india in--------------------. 

   ¼viii½ o"kZ 2011 esa Hkkjr esa uxjhdj.k dk Lrj------------------izfr'kr FkkA          (½) 

         The level of urbanisation in india 2011 was ---------------percent.  

   ¼ix½ lu~--------------------esa Hkkjr esa uxjh; tula[;k dh lokZf/kd n'kdh; o`f} nj 

       46-14 ntZ dh xbZA         ¼½) 

         The highest decadal growth rate of urban population was 46.14  

         percent was recorded in india in the year………………  

   ¼x½ t;iqj ,d ---------------------uxj gSA             (½) 

         jaipur is a ---------------town  .  
          

       iz-3½  vfry?kwÙkjkRed iz'u         

      ¼Very Short Answer Type Questions) 

            ¼i½ Hkkjr esa igyh tux.kuk dc gqbZ Fkh \   ¼1½  

                          When was the first census of india conducted?  

            ¼ii½ o"kZ 2014&15 esa Hkkjr dh vFkZO;oLFkk es Hkw&mi;ksx ds fdu laoxksZ esa 

     o`f} ntZ dh xbZ \      ¼1½ 



                            In which sectors of land use of the Indian economy growth was 
       recorded in 2014-15 ?  

            ¼iii½ 20 o"khZ; lM+d ;kstuk ij laf{kIr fVIi.kh fyf[k,A           ¼1½ 

                            Write a short note on  20 years road plan.    

            ¼iv½ HkwfuEuhdj.k ls D;k rkRi;Z gS\                             ¼1½ 

                            What is meant by land degradation ? 

            ¼v½ v'kksf/kr tUenj dh x.kuk dk lw= crkb,s \                 ¼1½ 

                            Write the formula of crude birth rate ? 

            ¼vi½ ekuo fodkl izfrosnu 2020 ds vuqlkj ekuo fodkl ds fuEuLrj 

      okys ns'kksa dh la[;k crkb,s \                              ¼1½ 

                            According to human development report 2020 tell the number 
                  of countries with low level of human development  ? 

            ¼vii½ MfEiax dk ijh{k.k dhft, A                               ¼1½ 

                              Examine Dumping . 

            ¼viii½ Ja[kyk Hk.Mkj ij laf{kIr fVIi.kh fyf[k,A          ¼1½ 

                               Write a short note on chain of stores.  

            ¼ix½ lhekUr ,oa eq[; Jfed esa vUrj Li"V dhft,A   ¼1½ 

                             Explain the difference between marginal and main worker . 
  

[k.M ^c^ 
Section - B 

 

         y?kwÙkjkRed iz'u      

         ¼Short answer type questions)  

         4½ ekuo Hkwxksy esa 1970 ds n'kd ls izeq[k mikxeksa dks Js.khc) dhft,A  ¼1½½ 

                       Categorise the major approaches in human geography since 1970s.  

 



         5½ dksbZ ns'k fdruh 'kh?kzrk ls vius ukxfjdks dks lwpuk ,oa lapkj       ¼1½½ 

           izkS|ksfxdh dk ykHk djk ldrk gS \ bldh ;kstuk dk iwokZuqeku yxkb,sA  

                         Predict at plans how quickly a country can make the benefits of                                         

information and communication technology available to its citizens.  

         6½ lM+dks ds mi;ksx ,oa egRo dk ijh{k.k dhft, A   ¼1½½ 

                         Examine the use and importance of roads  ? 

         7½ MsU;wc ty ekxZ ij laf{kIr fVIi.kh fyf[k,A     ¼1½½ 
 

                         Write a short note on Danube waterway .   

         8½ ty ØkafUr vfHk;ku dh tk¡p fdft, A     ¼1½½ 

                          Investigate Jal Kranti Abhiyan   ?  

         9½ LFkk;h pkjkxkgks dh igpku fdft, \     ¼1½½ 

                          Indentify permanent pastures  .  

         10½ Hkkjr esa vUrZjk"Vªh; O;kikj ds cnyrs izk:Ik dk ijh{k.k dhft, \   ¼1½½                                        

                           Put into practice the changing pattern of India's international    

                 trade ? 

         11½ Hkwiznq"k.k ds L=ksrks dh igpku dhft, A      ¼1½½                                    

 Indentify the land pollutions sources . 

 

 

[k.M ^l^ 
Section - C 

   

         nh?kZmÙkjkRed iz'u         

         ¼Long answer type questions ½       

            12½ LokfeRo ds vk/kkj ij m|ksxks dk o.kZu dhft,A    ¼3½  

                         Describe the industries on the basis of ownershipe . 



 

 

vFkok@OR 

             mPp izkS|ksfxd m|ksxks dh rhu fo'ks"krkvks dk o.kZu dhft,A  

                         Describe the three characteristics of high technology industries .   

 

            13½ Hkkjr esa ckWDlkbV vkSj rkWck mRiknu {ks=ksa ds uke fyf[k,A         ¼3½ 

                           Write the names of bauxite and  copper producing  areas of  India. 

vFkok@OR 

              Hkkjr ds vHkzd vkSj isVªksfy;e mRiknu {ks=ksa ds uke fyf[k,A  

                          Write the names of Mica & Petroleum producing areas of India.    

             14½ HkjekSj {ks= esa lefUor tutkrh; fodkl dk;ZØe dk fo'ys"k.kkRed  

            v/;;u dhft,\            ¼3½ 

                          Make an analytical study of the Integrated Tribal Development Project of                 
      Bharmaur Region.  

vFkok@OR 

              bfUnjk xkWa/kh ugj deku {ks= dk fo'ys"k.kkRed v/;;u dhft,A      

                          Make an analytical study of the Indira Gandhi canal command area .  

 

[k.M ^n^ 
Section - D 

   

           fucU/kkRed iz'u                                                      

  (Eassy type questions)   

 

           15½ pyoklh i'kq pkj.k vkSj okf.kT; i'kq/ku ikyu es vUrj Li"V dhft,\  ¼4½ 

                            Distinguish between herding and commercial live stocks rearing .   

vFkok@OR 



               fefJr d`f"k ,oa Ms;jh d`f"k esa vUrj Li"V dhft,A         

                             Distinguish between mixed farming and dairy farming.   

           16½ Tokj ,oa cktjk dh HkkSxksfyd ifjfLFkfr;ksa ,oe~ mRiknu {ks=ksa dk o.kZu               

               dhft,A                  ¼4½ 

Describe the geographical condition and production areas of Jawar and 
Bajra. 

vFkok@OR 

               lrr d`f"k ds fy, jk"Vªh; fe'ku o Hkkjr ds fdlku iksVZy dk o.kZu     

               dhft,A                                                 

 Describe the national mission  for sustainable agriculture and  farmer's 

portal of India .   

       17½ fn, x;s fo'o ds js[kk ekufp= esa fuEufyf[kr egk}hiksa dks vafdr dhft,&   

            ¼½+½+½+½=2½ 

     v½ nf{k.kh vesfjdk     c½ ,f'k;k     l½ vÝhdk   n½ vaVkdZfVdk 

 

     Mark the following continents on the given outline map of the world. 

         a ) South America       b) Asia             c) Africa       d) Antartika  
 

 18½ fn, x;s Hkkjr ds js[kk ekufp= esa fuEufyf[kr vUrZjk"Vªh; ok;q iRruksa dks     

     vafdr dhft, &          ¼½+½+½+½=2½ 

     v½ Jhuxj    c½ vgenkckn     l½ Hkqous'oj    n½ xqokgkVh 

    Mark the following international airports on the given outline map of  
      India. 
 

       a ) Shrinagar       b) Ahemdabad       c) Bhuvneshwar    d) Guwahati  


